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UG/2nd Sem/G/20(CBCS)

2020

ECONOMICS (General)
Paper : ECOG - DC-2/GE-2

(Introductory Macroeconomics)
(CBCS)

Full Marks : 32 Time : Two Hours

The figures in the margin indicate full marks.
Candidates are required to give their answers

in their own words as far as practicable.

Group - A

Answer any four of the following questions. 2×4=8

1. Distinguish between GNP and NNP.

2. What do you mean by GDP Deflator?

3. Define inflation.

4. What do you mean by consumption function?

5. What is velocity of money?

6. What do you mean by open market operations?

Group - B

Answer any four of the following questions. 4×4=16

7. What is money? Mention its functions.

8. Briefly discuss the circular flow of income.
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9. What are the factors that determine propensity to consume?

10. Distinguish between the concepts of demand-pull and cost-push inflation.

11. What are the difficulties in measuring national income of a country?

12. How Balance of Payments is accommodated in National income accounting of
an open economy?

13. What do you mean by demand for money?

14. Briefly discuss the problems of constructing price index.

Group - C

Answer any one question. 8×1=8

15. How is the Keynesian system different from the Classical system of Income
and Employment generation?

16. Briefly explain the Keynesian theory of income determination.
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˜#öì‰þîû ²ÌÙÀ öíöì„þ öë ö„þy˜ ‰þyîû!Ýþ ²ÌöìÙÀîû vþz_îû ”yçÐ 2×4=8

1Ð GNP ç NNPéôé~îû ›öì•Ä þ™yíÅ„þÄ öœ…Ð

2Ð !‹!vþ!þ™ xþ™¢yîû’„þyîû# (GDP Deflator) îœöì“þ !„þ öîyGþÚ

3Ð ›%oyéôé²Ì¢yîûéôé~îû ¢‚Kþy ”yçÐ

4Ð ö¦þy† xöìþ™Çþöì„þìîû ¢‚Kþy ”yçÐ

5Ð xöìíÅîû ²Ì‰þœ˜ öî† !„þÚ

6Ð çöìþ™˜ ›yöì„ÅþÝþ xþ™yöìîûŸ˜ îœöì“þ „þ# öîyGþÚ
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!î¦þy† éôé …

öë ö„þy˜ ‰þyîû!Ýþ ²ÌöìÙÀîû vþz_îû ”yçÐ 4×4=16

7Ð xíÅ !„þÚ xöìíÅîû „þyëÅyîœ# vþzöìÍÔ… „þîûÐ

8Ð xyöìëûîû ‰þe«y„þyîû ²Ìîy£!Ýþ ¢‚öìÇþöìþ™ „þîûÚ

9Ð ö¦þy†éôé²Ìî’“þy !˜•Åyîû’„þyîû# !î¡ìëû=!œ !„þ !„þÚ

10Ð ‰þy!£”yéôé‹!˜“þ ç îÄëûéôé‹!˜“þ ›%oyéôé²Ì¢yöìîûîû ›öì•Ä þ™yíÅ„þÄ ö”…yçÐ

11Ð ö„þy˜ ö”öìŸîû ‹y“þ#ëû xyëû þ™!îû›yþ™ „þîûöì“þ x¢%!î•y=!œ !„þ !„þÚ

12Ð ›%_« xíÅ̃ #!“þîû ‹y“þ#ëû xyöìëûîû xÄy„þyvþz!rÝþ‚öìëû „þ#¦þyöìî îÄyœyª xšþ öþ™öì›rÝþ¢ ¢‚ë%_« „þîûy
ëyëûÚ

13Ð xöìíÅîû ‰þy!£”y îœöì“þ !„þ öîyGþÚ

14Ð ¢‚öìÇþöìþ™ ›)œÄ ¢)‰þ„þ ÷“þ!îûîû ¢›¢Äy=!œ !˜öìëû xyöìœy‰þ˜y „þîûÐ

!î¦þy† éôé †

öë ö„þy˜ ~„þ!Ýþ ²ÌöìÙÀîû vþz_îû ”yçÐ 8×1=8

15Ð ö„þ£z̃ ¢#ëû !¢öìÞÝþ›!Ýþ xyëû ~î‚ „þ›Å¢‚ßþiy˜ vþzêöì¢îû „ÏþÄy!¢„þyœ îÄîßþiy öíöì„þ xyœy”y „þ#¦þyöìîÚ

16Ð ö„þ£z̃ ¢#ëû xyëû ç !˜öìëûy† “þ_!́Ýþ ¢‚öìÇþöìþ™ xyöìœy‰þ˜y „þîûÐ


